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No. [4704]-101

M.A. (Part I) (First Semester) EXAMINATION, 2015

ECONOMICS

EC-101 : Micro-economic Analysis—I

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw diagrams wherever necessary.

1. Answer any one question in 500 words : [20]

(1) What is meant by scarcity ? “Scarcity is the mother of all

economic problems.” Discuss.

(2) Explain the concept of indifference curve. Discuss the properties

of indifference curve.

2. Answer any one question in 500 words : [20]

(1) What is price elasticity of demand ? Explain the various

methods to measure the price elasticity of demand with suitable

examples.

(2) State and explain the Law of Variable Proportions. Discuss

its shortcomings.
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3. Answer any two in 250 words each : [20]

(1) Explain the concept of average and marginal cost with the

help of a graph and suitable example. Discuss the relationship

between average and marginal cost.

(2) What are average, marginal and total revenue ? Explain the

concept with the help of curve and suitable numerical

example.

(3) What is Isoquant ? Discuss the properties of Isoquant.

(4) State and explain Armstrong’s marginal preference

theory.

4. Write short notes on any four : [20]

(1) Nature and scope of micro-economics

(2) Law of demand

(3) Consumer surplus

(4) Dynamic economics

(5) Opportunity cost

(6) Linear homogenous production function.



[4704]-101 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.krkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) nqfeZˇrk Eg.kts dk; \ ^^nqfeZˇrk gh loZ vkfFkZd izðukaph tuuh gks;-**

ppkZ djk-

(2) ^leo`Ÿkh oÿ* gh ladYiuk Li"V djk- leo`Ÿkh oÿkP;k xq.k/kekZph ppkZ

djk-

2- [kk«h«iSdh dks.krkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) ekx.khph fdaer «ofpdrk Eg.kts dk; \ ekx.khph fdaer «ofpdrk ekst.;kP;k

fofo/k iºrh ;ksX; mnkgj.kklg Li"V djk-

(2) cn«Y;k izek.kkpk fu;e lkaxk- R;kaP;k m.khokph ppkZ djk-

3- [kk«h«iSdh dks.krsgh nksu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [20]

(1) ljkljh o flekar [kpZ ;k ladYiuk vk«s[k vkf.k ;ksX; mnkgj.kkus Li"V

djk- ljkljh o flekar [kpZ R;k nks?kkrh« laca/kkph ppkZ djk-



[4704]-101 4

(2) ljkljh] flekar o ,dw.k izkIrh Eg.kts dk; \ vk«s[k vkf.k ;ksX; lkaf[;dh;

mnkgj.kkus gÓk ladYiuk Li"V djk-

(3) lemRiknu oÿ Eg.kts dk; \ lemRiknu oÿkP;k xq.k/kekZph ppkZ djk-

(4) vkeZLV™k°x ;kapk flekar ilarh flºkar lkaxk o Li"V djk-

4- dks.krsgh pkjoj FkksMD;kr fVik fygk % [20]

(1) lw{e vFkZðkkL=kps Lo:i o O;kIrh

(2) ekx.khpk fu;e

(3) miHkksDrkps larks"kkf/kD;

(4) xrhðkh« vFkZðkkL=

(5) la/khR;kx [kpZ

(6) js[kh; ,dftulh mRiknu Q«u-
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4704]-102

M.A. (Part I) (First Semester) EXAMINATION, 2015

ECONOMICS

(EC-102 : Public Finance)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain the fiscal functions of the Government.

(2) What is taxable capacity ? Explain the determinants of taxable

capacity.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain the theories of shifting incidence of tax.

(2) Discuss the Wiseman-Peacock hypothesis of public

expenditure.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the social goods and merit goods.
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(2) Explain the concept of shifting of tax incidence.

(3) Discuss the pure theory of public expenditure.

(4) Explain the Keynesian approach of public debt.

4. Write short notes on any four : [20]

(1) Private goods and public goods

(2) Ability to pay principle of taxation

(3) Types of tax incidence

(4) Wagner’s law

(5) Post-Keynesian approach of public debt

(6) Excess burden of tax.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igk-

1- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) ljdkjph jktdks"kh; dk;sZ Li"V djk-

(2) djHkkj ik=rk Eg.kts dk; \ djHkkj ik=rk fu/kkZfjr dj.kkjs ?kVd Li"V

djk-
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2- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) djHkkj laÿe.kkps flºkar Li"V djk-

(2) lkoZtfud [kpkZP;k okbZteu&fidkWdP;k ifjdYiukph ppkZ djk-

3- [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.kRksgh nksu) % [20]

(1) lkekftd oLrw o xq.koŸksP;k oLrw Li"V djk-

(2) djHkkj laÿe.kkph ladYiuk Li"V djk-

(3) ðkqº lkoZtfud [kpZ flºkarkph ppkZ djk-

(4) dsUlpk lkoZtfud dtkZpk n`"Vhdks.k Li"V djk-

4- FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) [kktxh oLrw vkf.k lkoZtfud oLrw

(2) djns; {kerk rŸo

(3) djHkkjkaps izdkj

(4) oSXujpk flºkar

(5) dsUlsrj lkoZtfud dtkZpk n`"Vhdks.k

(6) vfrfjDr djHkkj-
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4704]-103

M.A. (Part I) (First Semester) EXAMINATION, 2015

ECONOMICS

EC-103 : (Agricultural Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain in detail the role of agriculture in Indian

Economy.

(2) Explain the major problems of co-operative credit system.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain the problems of agricultural marketing in India.

(2) State and explain the problems of agricultural management.

3. Answer any two of the following questions in 250 words each : [20]

(1) “Farming as a business or way of life.” Comment.
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(2) Explain the nature and recent development in Green revolution.

(3) Explain the role of NABARD in agricultural credit.

(4) Explain the scope of biotechnology in Indian Agriculture.

4. Write short notes on (any four) : [20]

(1) Self-help group

(2) Agriculture price policy

(3) Food security

(4) Agriculture productivity

(5) Organic farming

(6) Unorganised credit system.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) Hkkjrh; vFkZO;oLFksrh« ðksrhph Hkwfedk lfoLrj Li"V djk-

(2) lgdkjh foŸk&O;oLFksrh« izeq[k leL;k foðkn djk-
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2- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) Hkkjrkrh« ðksrek« fcÿh O;oLFksrh« leL;k Li"V djk-

(2) ðksrh O;oLFkkiukP;k leL;k lkaxk o Li"V djk-

3- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [20]

(1) ^^ðksrh ,d O;olk; dh thouiºrh** \  rqeps er lkaxk-

(2) gfjr ÿkarhps Lo:i vkf.k v«hdMP;k dkˇkrh« lq/kkj.kk Li"V djk-

(3) ukckMZph ðksrh iriqjoBÓkrh« Hkwfedk foðkn djk-

(4) Hkkjrkrh« ðksrh {ks=krh« tSora=Kkukph O;kIrh Li"V djk-

4- FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) Lo;a lgk∏;rk xV

(2) ðksrek« fdaer /kksj.k

(3) vUu&lqj{kk

(4) ðksrh mRikndrk

(5) lsaÊh; ðksrh

(6) vla?kVhr irO;oLFkk-



P.T.O.
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Seat

No. [4704]-104

M.A. (Part I) (First Semester) EXAMINATION, 2015

ECONOMICS

(Optional)

EC-104 : Indian Economic Policy

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]

(i) Explain in detail the demographic features of India.

(ii) Explain the causes and remedies for Poverty in India.

2. Answer the following questions in 500 words (any one) : [20]

(i) Evaluate the economic reforms in India since 1991.

(ii) What is economic policy ? Explain the role of economic policy

in economic development.
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3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the recent issues in Indian Labour Market.

(ii) Explain the role of energy and transport role of Economic

Development.

(iii) Explain the policy of Agricultural Marketing in India.

(iv) Explain the causes of Migration.

4. Write short notes on (any four) : [20]

(i) Indian Capital Market

(ii) Liberalization Policy

(iii) Problems of Education System in India

(iv) Role of Public Sector

(v) Importance of Economic Policy

(vi) Objectives of Monetary Policy.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

1. [kk«h« izðukaph 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) : [20]

(i) Hkkjrkrh« «ksdla[;sph oSfðk"VÓs lfoLrj Li"V djk-

(ii) Hkkjrkrh« nkfjÊÓkph dkj.ks vkf.k R;kojh« mi;ksx Li"V djk-
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2. [kk«h« izðukaph 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) : [20]

(i) 1991 iklwuP;k Hkkjrkrh« vkfFkZd lq/kkj.kkapk vk<kok ?;k-

(ii) vkfFkZd /kksj.k Eg.kts dk; \ vkfFkZd fodklkr vkfFkZd /kksj.kkaph Hkwfedk

Li"V djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) : [20]

(i) Hkkjrh; Je cktkjkrh« v«hdMh« leL;k Li"V djk-

(ii) vkfFkZd fodklkr mtkZ vkf.k okgrqdhph Hkwfedk Li"V djk-

(iii) Hkkjrkrh« ðksrek« fdaerfo"k;d /kksj.k Li"V djk-

(iv) LFkˇkarjkph dkj.ks Li"V djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) : [20]

(i) Hkkjrh; HkkaMo« cktkj

(ii) mnkjhdj.kkps /kksj.k

(iii) Hkkjrkrh« fðk{k.k iºrhrh« leL;k

(iv) lkoZtfud {ks=kph Hkwfedk

(v) vkfFkZd /kksj.kkps egRo

(vi) pˇufo"k;d /kksj.kkph mÌh"Vs-
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[4704]-104

EC-105 : Labour Economics

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]

(i) Discuss the characteristics of Labour Market in developing

countries like India.

(ii) Critically examine the Marginal Productivity theory of Wage.

2. Answer the following questions in 500 words (any one) : [20]

(i) Evaluate the National Wage Policy in India.

(ii) Explain the effects of Migration of Labour.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the nature and scope of Labour Economics.

(ii) What are the causes of Industrial Disputes in India ?

(iii) Critically examine the Modern Theory of Wages.

(iv) Discuss the causes of Absenteeism of Indian Industrial Labour.
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4. Write short notes on any four in 100 words each : [20]

(i) Collective Bargaining

(ii) Exit Policy

(iii) Minimum Wages and Fair Wages

(iv) Structure of Labour Unions in India

(v) Labour Turnover

(vi) Wage Board.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) : [20]

(i) Hkkjrklkj[;k fodluðkh« nsðkkrh« JecktkjkP;k oSfðk"VÓkph ppkZ djk-

(ii) osrukP;k flekar mRikndrk flºkarkps fVdkRed ifj{k.k djk-

2. [kk«h« izðukaph 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) : [20]

(i) Hkkjrkrh« jk"V™h; osru /kksj.kkps eqY;ekiu djk-

(ii) JfedkaP;k LFk«karjkps ifj.kke Li"V djk-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) : [20]

(i) Jekps vFkZðkkL=kps Lo:i vkf.k O;kIrh Li"V djk-

(ii) Hkkjrkrh« vkS|ksfxd d«gkph dkj.ks dks.krh \

(iii) osrukP;k vk/kqfud flºkarkps fVdkRed ifj{k.k djk-

(iv) Hkkjrkrh« JfedkaP;k vuqifLFkrhph dkj.kkph ppkZ djk-

4. dks.kR;kgh pkjoj FkksMD;kr fVik f«gk (izR;sdh 100 'kCnkar) : [20]

(i) lkeqnkf;d lkSnkðkDrh

(ii) fuxZeu /kksj.k

(iii) fdeku osru vkf.k ;ksX; osru

(iv) Hkkjrkrh« Je la?kVukaph jpuk

(v) dkexkj m«k<kˇ

(vi) osru eaMˇ-
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[4704]-104

EC-106 : Co-operation — Theory and Practice

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]

(i) What is Co-operation ? Explain the nature and characteristics

of Co-operation.

(ii) Explain the need, objectives and problems of Co-operative

Training.

2. Answer the following questions in 500 words (any one) : [20]

(i) Explain the history and growth of Co-operative Movement in

Maharashtra.

(ii) Explain the role of NABARD in Rural Credit.

3. Answer the following questions in 250 words each (any two) : [20]

(i) State the history of Co-operative Movement in Germany.

(ii) Explain the growth of Co-operative Movement in Sweden.

(iii) Explain the principles of Co-operation.

(iv) State the functions of Co-operative Auditor.
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4. Write short notes on (any four) : [20]

(i) Problems of Co-operative Sugar Factories in Maharashtra.

(ii) Working of Primary Agricultural Credit Co-operative Societies.

(iii) Present position of Urban Co-operative Banks in Maharashtra.

(iv) Growth of Co-operative Movement in Japan.

(v) Weaknesses of Co-operative Movement in India.

(vi) Importance of Co-operation.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) : [20]

(i) lgdkj Eg.kts dk; \ lgdkjkps Lo:i vkf.k oSfðk"VÓs Li"V djk-

(ii) lgdkj izfðk{k.kkph xjt o mfÌ"VÓs lkaxwu R;krh« leL;k Li"V djk-

2. [kk«h« izðukaph 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) : [20]

(i) egkjk"V™krh« lgdkjh pˇoˇhpk bfrgkl vkf.k fodkl Li"V djk-

(ii) xzkeh.k iriqjoBÓkrh« ukckMZph Hkwfedk foðkn djk-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) : [20]

(i) teZuhrh« lgdkjh pˇoˇhpk bfrgkl lkaxk-

(ii) LohMue/kh« lgdkjh pˇoˇhpk fodkl Li"V djk-

(iii) lgdkjkph rRos foðkn djk-

(iv) lgdkj «s[kkijh{kdkph dk;sZ lkaxk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) : [20]

(i) egkjk"V™krh« lgdkjh lk[kj dkj[kkU;kaP;k leL;k-

(ii) izkFkfed œ"kh lgdkjh irlaLFkkaph dk;Ziºrh-

(iii) egkjk"V™krh« ukxjh lgdkjh c°dkaph l|fLFkrh-

(iv) tikue/kh« lgdkjh pˇoˇhpk fodkl-

(v) Hkkjrkrh« lgdkjh pˇoˇhrh« mf.kok-

(vi) lgdkjkps egRo-
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[4704]-104

EC-107 : Mathematical Economics

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary

(v) Use of non-scientific calculator is allowed.

1. Answer the following questions (any one) : [20]

(1) A firm has to produce five qualities of its product which needs

the following materials :

Quality   Materials needed

M1 M2 M3 M4

A1 6 6 10 8

A2 3 4 12 6

A3 4 5 15 8

A4 2 2 12 5

A5 3 2 10 —

If the firm has to produce respectively 3, 22, 20, 12 and

7 units of five qualities, find the amounts of different materials

required by writing their requirements as a row vector.
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Or

(2) A monopolist with cost function C = x2 + 1 faces the demand

curve x = 12 – p. What will be the equilibrium price and

quantity ?

2. Answer the following questions (any one) : [20]

(1) For what value of k do the equations given below not have

unique solutions ?

2x – 3y + 2z = a

5x + 4y – 2z = –3

x – 13y + kz = 9.

Or

(2) An industry is made up of 100 firms all with cost schedule

TC = 40 + 0.4q3. They sell in market where the demand schedule

is P = 70 – 0.08Q, where ‘Q’ is industry output and ‘q’ is

industrial firms output.

(i) What will be the short run price, industry output and

profit for each firm ?

(ii) What will happen to price industry output and the number

if firms in the long-run ?

(Assume new entrants have the same structure.)
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3. Answer the following questions (any two) : [20]

(1) Integrate the following with respect to x :

(i) 2

1

6 25x x+ +

(ii) 2

2 1
.

2 3

x

x x

+

+ +

(2) The demand function for commodity A is given by :

XA = f(PA, PB, PC) = 63.3 – 1.9PA + 0.2PB + 0.5PC

(i) Find the partial elasticities of demand for A with respect

to process of other commodities B and C.

(ii) Estimate the partial elasticities for PA = 10, PB = 8

and PC = 7.

(3) Show that the :

matrix 

2 1 1

A = 1 2 1

1 1 2

− 
 
 − − 
 
 − 

satisfies the equation :

A3 – 6A2 + 9A – 4I = 0.

Hence find A–1.

(4) Find :

(i) simple interest and

(ii) compound interest

at 8% converted quarterly on Rs. 2,000 invested for 1
3

4
 years.
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4. Answer the following questions (any four) : [20]

(1) Show that :

A – B = A ∩ B′ = A  and B
x

x
x

 
∈ ∉ 

 
.

(2) Find S, when p = 2 and find p, when S = 18 for the supply

curve S = 5p + 2p2.

(3) Find the value of :

1 3 2

0 2 1 .

4 1 5

−

(4) Differentiate with respect to x :

( ) ( )3 22 31 1 .x x+ −

(5) Calculate the simple interest on Rs. 500 for 2 years at 3%.

(6) Determine the following integrals and check by differentiation :

(i) ( )5 2x dx−∫
(ii) ( ) ( )3 2 2 3 .x x dx− +∫
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[4704]-104

EC-108 : Demography

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]

(i) What is demography ? Explain its nature, scope and

importance.

(ii) What is quality of population ? Explain the factors affecting

the quality of population.

2. Answer the following questions in 500 words (any one) : [20]

(i) State and explain the theory of demographic transition.

(ii) Analyse the relationship between population growth and

economic development.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Briefly explain the Population Policy, 2000.

(ii) Explain Human Development Index.

(iii) Elaborate on the pattern of age and sex structure in Developing

Nations.

(iv) Critically examine the Optimum theory of Population.
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4. Write short notes on any four in 100 words each : [20]

(i) Life expectancy

(ii) Women empowerment

(iii) Recent population trends in India

(iv) General Fertility Rate

(v) Malthusian theory of population

(vi) Health Policy in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) : [20]

(i) «ksdla[;kðkkL= Eg.kts dk; \ R;kps Lo:i] O;kIrh o egRo Li"V djk-

(ii) «ksdla[;sph xq.koŸkk Eg.kts dk; \ «ksdla[;sP;k xq.koŸksoj ifj.kke dj.kkjs

?kVd Li"V djk-

2. [kk«h« izðukaph 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) : [20]

(i) «ksdla[;k laÿe.k flºkar lkaxk o Li"V djk-

(ii) «ksdla[;k o`ºh vkf.k vkfFkZd fodkl ;ke/kh« laca/kkps foð«s"k.k djk-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) : [20]

(i) lu~ 2000ps «ksdla[;kfo"k;d /kksj.k FkksMD;kr foðkn djk-

(ii) ekuoh fodkl funsZðkkad Li"V djk-

(iii) fodlulh« nsðkkrh« o;ksjpuk vkf.k f«axjpuk ;klaca/khps Li"Vhdj.k djk-

(iv) i;kZIr «ksdla[;k flºkarkps fVdkRed eqY;ekiu djk-

4. dks.kR;kgh pkjoj FkksMD;kr fVik f«gk (izR;sdh 100 'kCnkar) : [20]

(i) o;kseku

(ii) efg«k lc«hdj.k

(iii) vf«dMh« dk«krh« HkkjrkP;k «ksdla[;srh« izœrh

(iv) loZlk/kkj.k tuunj

(v) ekYFkl ;kapk «ksdla[;kfo"k;d flºkar

(vi) Hkkjrkps vkjksX;fo"k;d /kksj.k-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4704]-201

M.A. (Part I) (Second Semester) EXAMINATION, 2015

ECONOMICS

(EC–201 : Micro-Economic Analysis-II)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw diagrams wherever necessary.

1. Answer any one question in 500 words : [20]

(i) Perfect competition and pure monopoly are two theoretical limiting

cases which are rearly found in the real world. Do you agree ?

Why ?

(ii) Critically examine Marginal Productivity Theory of Distribution.

P.T.O.
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2. Answer any one question in 500 words : [20]

(i) What is discriminating monopoly ? Explain the types of price

discrimination. State how firms attain equilibrium under dis-

criminating monopoly ?

(ii) Critically examine the Chamberlin theory of Monopolistic

Competition.

3. Answer any two questions in 250 words each :  [20]

(i) Explain why price rigidity exists under oligopoly ?

(ii) Explain Pareto’s optimality conditions

(iii) Explain Baumol’s model of sales revenue maximization.

(iv) Explain Schumpeter’s theory of Profit.

4. Write short notes on any four :  [20]

(i) Lonable funds theory of Interest

(ii) Pigou’s theory of Welfare Economics

(iii) Cournot’s model of Oligopoly

(iv) Superiority of IS-LM model

(v) Selling cost

(vi) Marris’s marginal model of the firm.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) mŸkjs usedh o eqÌslwn vlkohr-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukaps mŸkj 500 ðkCnkar f«gk % [20]

(i) iw.kZLi/kkZ vkf.k ðkqº eDrsnkjh gh nksu lSºkafrd ifjlhesph mnkgj.ks vkgsr-

rqEgh lger vkgkr dk \

(ii) foHkktukpk flekUr mRikndrk flºkarkps fVdkRed ifj{k.k djk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukaps mŸkj 500 ðkCnkar f«gk % [20]

(i) foHksnkRed eDrsnkjh Eg.kts dk; \ ewY; Hksnkps izdkj Li"V djk- foHksnkRed

eDrsnkjh m|ksx laLFkk lerks« dlk lk/; djrs rs lkaxk-

(ii) psacf«ZuP;k eDrsnkjh;qDr Li/kkZ flºkarkps fVdkRed ifj{k.k djk-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk %  [20]

(i) vYifoÿsrkf/kdkjkr fdaer rkBjrk vfLrRokr dk ;srs rs Li"V djk-

(ii) ijsVksP;k i;kZIrrsP;k vVh Li"V djk-
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(iii) ck≈eks«ps foÿhizkIrh egŸkehdj.kkps izfreku Li"V djk-

(iv) ðkqEihVjpk u∂;kpk flºkar Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(i) O;ktkpk dtkZ≈ jdespk flºkar

(ii) fixwpk vkfFkZd dY;k.kkpk flºkar

(iii) dquksZps vYifoÿsrkf/kdkj izfreku

(iv) IS-LM oÿkps Js"BRo

(v) foÿh [kpZ

(vi) eWfjlps m|ksxlaLFksps flekUrh; izfreku-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4704]-202

M.A. (Part I) (Second Semester) EXAMINATION, 2015

ECONOMICS

(EC-202 : Indian Public Finance)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]

(1) Explain the various components of union budget.

(2) Explain the trends in revenues of Central Government since

1991.

2. Answer the following questions in 500 words (any one) : [20]

(1) What is financing deficit ? Explain its effects on Indian

Economy.

(2) Explain the interdependence of monetary and fiscal

policy.

P.T.O.



[4704]-202 2

3. Answer in 250 words each (any two) : [20]

(1) Explain the reforms in direct taxes in India.

(2) Assess the recent central Government budget.

(3) Explain the balanced budget multiplier.

(4) Explain the principles of federal finance.

4. Answer in 100 words each (any four) : [20]

(1) Verticle and Horizontal imbalance

(2) Classification of Budget

(3) Burden of public debt on Indian Economy

(4) Deficit financing in India

(5) Centre-states conflicts on finance

(6) Automatic Stabilizers.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukps mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) dsaÊh; vFkZladYikrh« fofo/k ?kVd Li"V djk-

(2) dsaÊljdkjP;k eglq«krh« 1991 iklwuph izo`Ÿkh Li"V djk-
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2. [kk«h« izðukps mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(1) rqVhpk vFkZHkj.kk Eg.kts dk; \ frps Hkkjrh; vFkZO;oLFksojh« ifj.kke Li"V

djk-

(2) jktdks"kh; /kksj.k o pˇufo"k;d /kksj.k ;krh« ijLijko«acu Li"V djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) Hkkjrkrhy izR;{k djkrh« lq/kkj.kk Li"V djk-

(2) dsaÊ ljdkjP;k v«hdMh« vankti=dkps ewY;ekiu djk-

(3) larqf«r vankti=d xq.kd Li"V djk-

(4) la?kh;foŸkkph rRos Li"V djk-

4. izR;sdh 100 ðkCnkr mŸkj f«gk (dks.krsgh pkj) % [20]

(1) m/oZxkeh vkf.k f{krht lekarj vlarq«u

(2) vFkZladYikps oxhZdj.k

(3) Hkkjrh; vFkZO;oLFksojh« lkoZtfud dtkZpk Hkkj

(4) Hkkjrh; rqVhpk vFkZHkj.kk

(5) dsaÊ&jkT; ;krh« foŸkh; la?k"kZ

(6) Lo;apf«r fLFkjds-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4704]-203

M.A. (Part I) (Second Semester) EXAMINATION, 2015

ECONOMICS

(EC-203 : Indian Agricultural Problems and Policies)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain the present policy of ceiling on Land holding.

(2) State and explain the recent Export-Import Policy of Vegetables

and Fruits.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain the recent Agricultural Problems in India.

(2) Assess the effects of W.T.O. on Indian Agriculture.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the problems of Agricultural labour.

P.T.O.
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(2) Explain the significance of SEZ policy in India.

(3) Explain the need and importance of Employment Guarantee

Scheme.

(4) Explain the causes of low efficiency of agricultural labour in

India.

4. Write short notes on (any four) : [20]

(1) Agreement on Agriculture under W.T.O.

(2) Agricultural Subsidies

(3) Unemployment problems

(4) Problems of Agricultural Imports

(5) EXIM policy : 2004 to 2009.

(6) Agricultural problems in Maharashtra.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igk-

1. [kk«h«iSdh dks.kR;kgh ,d izðukps 500 ðkCnkar lksMok % [20]

(1) dek« tehu /kkj.kkfo"k;h l| fLFkrhrh« /kksj.k Li"V djk-

(2) Hkkthik«k vkf.k Qˇs ;k lanHkkZrh« v«hdMh« vk;kr&fu;kZr /kksj.k lakxk-
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2. [kk«h«iSdh dks.kR;kgh ,d izðu 500 ðkCnkar lksMok % [20]

(1) Hkkjrkrh« ðksrhP;k v«hdMh« dkˇkrh« leL;k Li"V djk-

(2) tkxfrd O;kikj la?kVusP;k Hkkjrh; ðksrhojh« ifj.kkekaps eqY;ekiu djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) ðksretqjkaP;k leL;k foðkn djk-

(2) Hkkjrkrh« foðks"k vkfFkZd /kksj.kkps egRo Li"V djk-

(3) jkstxkj geh ;kstusph vkoð;drk vkf.k egRo foðkn djk-

(4) Hkkjrkrh« ðksretqjkaP;k vYidk«hu dk;Z{kersph dkj.ks Li"V djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) tkxfrd O;kikj la?kVuspk ðksrhfo"k;d djkj

(2) ðksrhfo"k;d vuqnkus

(3) csdkjhph leL;k

(4) ðksrhfo"k;d vk;kr /kksj.kkph leL;k

(5) 2004&2009 ps vk;kr&fu;kZr /kksj.k

(6) egkjk"V™krh« ðskrhP;k leL;k-



Total No. of Questions—4+4+4+4+4] [Total No. of Printed Pages—16+3

Seat

No. [4704]-204

M.A. (Part I) (Second Semester) EXAMINATION, 2015

ECONOMICS

(EC-204 : Industrial Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]

(1) Critically examine the New Industrial Policy, 1991.

(2) What is Industrial Economics ? Explain the scope and importance

of Industrial Economics.

2. Answer the following questions in 500 words (any one) : [20]

(1) Explain the factors influencing Industrial Location.

(2) Explain the main sources of Industrial Finance.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain Weber’s theory of Industrial Location.

(2) Explain the causes of Industrial Imbalance.

P.T.O.
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(3) Explain the Government Policy towards foreign capital.

(4) Explain the importance of small scale industries in India.

4. Write short notes on (any four) : [20]

(1) Disinvestment Policy

(2) Industrial Productivity

(3) Industrial combination

(4) Multinational Corporations (MNCs)

(5) Industrial Monopoly

(6) Need for Balanced Regional Development.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaps 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) %  [20]

(1) 1991P;k uohu vkS|ksfxd /kksj.kkps fVdkRed ijh{k.k djk-

(2) vkS|ksfxd vFkZðkkL= Eg.kts dk; \ vkS|ksfxd vFkZðkkL=kph O;kIrh vkf.k egRo

Li"V djk-

2. [kk«h« izðukps 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) %  [20]

(1) vkS|ksfxd LFkkfudhdj.kkoj izHkko ikM.kkjs ?kVd Li"V djk-

(2) vkS|ksfxd foŸkiqjoBÓkps izeq[k Úksr Li"V djk-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [20]

(1) vkS|ksfxd LFkkfudhdj.kkpk oscjpk flºkUr Li"V djk-

(2) vkS|ksfxd vlerks«kph dkj.ks Li"V djk-

(3) ijdh; HkkaMo«ckcrps ljdkjps /kksj.k Li"V djk-

(4) Hkkjrkrh« «?kq m|ksxkaps egRo Li"V djk-

4. fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) fuxq±ro.kwd /kksj.k

(2) vkS|ksfxd mRikndrk

(3) vkS|ksfxd la;ksfxdj.k

(4) cgqjk"V™h; dai.;k

(5) vkS|ksfxd eDrsnkjh

(6) larqf«r izknsfðkd fodklkph xjt-
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[4704]-204

(EC-205 : Rural Development)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one of the following (in 500 words) :  [20]

(1) Explain in detail the scope and importance of Rural Development

in India.

(2) Critically evaluate the Green Revolution for Rural Development.

State its weaknesses.

2. Answer any one of the following (in 500 words) :  [20]

(1) Discuss in detail the nature of Agrarian Reforms in

India.

(2) Describe in detail the causes and magnitude of Rural

Indebtedness in India.
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3. Answer any two questions (in 250 words each) : [20]

(1) State the role of Rural Industrialisation in Rural Development

in India.

(2) Describe the problems of Rural Transport in India.

(3) Describe V.M. Dandekar’s approach for rural develop-

ment.

(4) Explain the role of SHGs in eliminating rural poverty.

4. Write short notes on any four (in 100 words each) : [20]

(1) Employment Assurance Scheme

(2) Special Component Plan for SCs

(3) SFDA and MFAL

(4) Food for work programme

(5) TRYSEM

(6) Swarna Jayanti Gram Sva-Rozgar Yojana.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj f«gk (500 ðkCnkar) %  [20]

(1) Hkkjrkrh« xzkeh.k fodklkph O;kIrh o egRo lfoLrj Li"V djk-

(2) xzkeh.k fodklkdfjrk gfjr ÿkarhps VhdkRed ijh{k.k djk- gfjr ÿkarhP;k m.khok

lkaxk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj f«gk (500 ðkCnkar) %  [20]

(1) Hkkjrkrh« œ"kh lq/kkj.kkaP;k Lo:ikph lfoLrj ppkZ djk-

(2) Hkkjrkrh« xzkeh.k dtZcktkjhi.kkP;k dkj.ks o ifjek.kkps lfoLrj o.kZu

djk-

3. dks.kR;kgh nksu izðukaph mŸkjs f«gk (izR;sdh 250 ðkCnkar) %  [20]

(1) Hkkjrkrh« xzkeh.k fodklkdfjrk xzkeh.k vkS|ksfxdj.kkph Hkwfedk

lkaxk-

(2) Hkkjrkrh« xzkeh.k okgrqdhP;k leL;kaps o.kZu djk-

(3) xzkeh.k fodklkP;k fo-e- nkaMsdjkaP;k n`f"Vdksukps o.kZu djk-

(4) xzkeh.k nkfjÊÓ fuewZ«ukdfjrk Lo;algk;rk xVkaph Hkwfedk Li"V

djk-
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4. dks.kR;kgh pkjoj FkksMD;kr Vhik f«gk (izR;sdh 100 ðkCnkar) %  [20]

(1) jkstxkj geh ;kstuk (EAS)

(2) vuqlwfpr tkrhadfjrk foðks"k ?kVd ;kstuk

(3) «?kq ðksrdjh fodkl laLFkk (SFDA) vkf.k lhekar ðksrdjh o œ"khetwj la?kVuk

(MFAL)

(4) ^dkekP;k ekscnY;kr /kkU;* dk;Zÿe

(5) TRYSEM

(6) Lo.kZ t;arh xzke Lo&jkstxkj ;kstuk-
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[4704]-204

(EC-206 : Computer Application in Economic Analysis)

Time : 2½ Hours Maximum Marks : 60

N.B. :— (i) Attempt All questions..

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Attempt any one of the following : [1×15=15]

(1) What is internet ? What are the different technical components

required for Internet ?

(2) Explain the concept of electronic transaction and state its

characteristics.

2. Attempt any one of the following (‘A’ or ‘B’) : [1×15=15]

(A) (1) Explain B2B model with its applications. [8]

(2) What is spreadsheet ? Explain with suitable example the

steps for sorting a data in descending order. [7]

Or

(B) (1) What are the benefits of electronic stock exchange ?

8

(2) What is GUI ? Explain the features provided by windows

operating system. [7]

3. Attempt any three of the following : [3×5=15]

(1) Explain the different types of software.

(2) What are the advantages of Electronic Trading ?
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(3) How is electronic transaction validated ?

(4) Explain any two types of input devices.

(5) List the application of Computers in various fields.

4. Attempt any three of the following : [3×5=15]

(1) Explain any two applications in accessories group.

(2) Explain the steps for creating bar chart

(3) What are the advantages of online banking ?

(4) Explain the client server network.

(5) How is digital signature generated ?
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[4704]-204

(EC-207 : Statistical Techniques)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions..

(ii) Figures to the right indicate full marks.

(iii) Use of non-programmable calculator is allowed.

(iv) Symbols have their usual meaning.

1. Answer any one of the following : [20]

(1) For the following frequency distribution of expenses on petrol

per day for 80 persons compute arithmetic mean, median, mode

and standard deviation :

Expenses on No. of

Petrol (per day) Persons

10—15 2

15—20 6

20—25 9

25—30 12

30—35 21

35—40 16

40—45 8

45—50 6
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(2) (a) State and explain the components of time series.

(b) Compute Laspeyre’s, Paasche’s and Fisher’s index number

for the following data :

Commodity Base Year Base Year Current Year Current Year

Price Quantity Prices Quantity

A 5 5 6.5 7

B 7.75 6 8.8 10

C 9.63 4 7.75 6

D 12.5 9 12.75 9

2. Answer any one of the following questions : [20]

(A) (1) Define :

(i) Critical region

(ii) Type I error

(iii) Type II error

(iv) Level of significance

(v) Hypothesis.
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(2) The joint probability function for the random variables

X and Y is given below :

  

Y

X

. . .

. . .

. . .

0 1 2

0 0 03 0 18 0 09

1 0 03 0 18 0 09

2 0 04 0 24 0 12

(i) Obtain the marginal probability distributions of X

and Y.

(ii) Are X and Y independent ? Justify.

(B) The following are the data related to marks in computer science

(X) and marks in statistics (Y) of 10 candidates :

X Y

66 68

65 67

68 67

68 70

67 65

66 68

70 70

64 66

69 68

67 66
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(1) Calculate the regression coefficient and hence the cor-

relation coefficient.

(2) Estimate marks in statistics of a student who has scored

76 marks in comp. sc.

(3) Estimate marks in comp. sc. of a student who has obtained

60 marks in statistics.

3. Answer any two of the following questions : [20]

(1) Write a note on Kurtosis.

(2) Explain in brief different types of sampling procedures.

(3) Following are the data on retail price index (X) and wholesale

price index (Y) for 10 years. Compute the correlation coefficient

and interpret it :

X Y

89 92

86 91.5

74 84

65 75

65 73.5

63 72

66 70.5

67 75

72 77.5

79 84
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(4) For the data given in the following table, test for independence

between ability in mathematics and interest in Economics. Use

5% level of significance :

Ability in Mathematics

Interest Low Average High

in Low 63 42 15

Economics Average 58 61 31

High 14 47 29

4. Answer any four of the following : [20]

(1) Compare mean and mode as measures of central

tendency.

(2) State the sampling distribution of sample mean and sample

proportion.

(3) State the uses of index numbers.

(4) Alphabets of the word ‘COMPUTER’ are to be arranged at

random. Find the probability that :

(a) the vowels are together

(b) begin and end with a consonant

(c) Begin with C and end with a vowel.
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(5) Estimate the trend by using 3-yearly moving averages for the

following data :

Year Sales

(in tonnes)

2001 78

2002 73

2003 71

2004 73

2005 75

2006 78

2007 73

(6) Among 500 employees of a factory 200 are union members,

while others are not. 10 employees are selected at random

for a special training. Find the probability that exactly 4 of

them are union members.
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[4704]-204

(EC-208 : Community Development and Planning)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer any one of the following questions (in 500 words) : [20]

(1) Critically evaluate different theories of development.

(2) Critically evaluate the role of state by means of public sector

in economic development with reference to planning in

India.

2. Answer any one of the following questions (in 500 words) : [20]

(1) Critically explain the relationship between social investment and

economic growth.

(2) Explain population and social policy in the Indian

Context.
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3. Answer the following questions in 250 words each (any two) :  [20]

(1) Explain two case-studies of development from India.

(2) Explain foundation of social theory.

(3) Explain the relationship between social development and

environment.

(4) Discuss the relationship between overseas development assist-

ance and social planning.

4. Write short notes on (any four) : [20]

(1) Basic human needs

(2) Social capital

(3) Religious values and beliefs

(4) Redistribution with growth

(5) Planning and aid

(6) Asset vulnerability framework.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh vkf.k eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1. [kk«h«iSdh dks.kR;kgh ,d izðukps mŸkj 500 ðkCnkar f«gk %  [20]

(1) fodklk lanHkkZrh« fooh/k flºkarkps fVdkRed eqY;ekiu djk-

(2) Hkkjrh; fu;kstukP;k lanHkkZr lkoZtfud lsokP;k lgk∏;kus vkfFkZd fodklkrh«

ðkklukP;k Hkqfedsps fVdkRed eqY;ekiu djk-

2. [kk«h«iSdh dks.kR;kgh ,d izðukps mŸkj 500 ðkCnkar f«gk %  [20]

(1) lkekftd xqaro.kwd vkf.k vkfFkZd o`ºh ;kaP;krh« ijLij laca/kkps fVdkRed

Li"Vhdj.k djk-

(2) HkkjrkP;k lanHkkZr «ksdla[;k vkf.k lkekftd /kksj.k Li"V djk-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk %  [20]

(1) HkkjrkP;k fodklkckcrP;k nksu O;"Vh vH;klkps Li"Vhdj.k djk-

(2) ik;kHkwr lkekftd flºkar Li"V djk-

(3) lkekftd fodkl vkf.k i;kZoj.k ;kaP;krh« ijLijlaca/k Li"V

djk-

(4) ijfd; enr vkf.k lkekftd fu;kstu ;ke/kh« ijLij laca/kkph ppkZ

djk-



[4704]-204 19 P.T.O.

4. [kk«h«iSdh dks.kR;kgh pkjoj FkksMD;kr fVik f«gk %  [20]

(1) ekuokP;k eq«Hkwr xjtk

(2) lkekftd HkkaMo«

(3) /kkfeZd eqY; vkf.k Jºk

(4) o`ºhps iquokZVi

(5) fu;kstu vkf.k enr

(6) ek«eŸkk Hksnfu;rk pkSdV-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4704]-301

M.A. (Part II) (Third Semester) EXAMINATION, 2015

ECONOMICS

(EC-301 : Macro Economic Analysis—I)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain the concept of High Powered Money and Money

Multiplier.

(2) Explain Keynesian liquidity preference approach to demand for

money.

2. Answer any one of the following questions in 500 words : [20]

(1) What is social accounting ? Explain the components of social

accounting.

(2) Explain absolute income hypothesis and life cycle hypothesis

of consumption.
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3. Answer any two of the following questions in 250 words each:

[20]

(1) What are the factors affecting marginal efficiency of

capital ?

(2) Explain the flow of fund accounting.

(3) Explain the effects of budget deficit on money supply.

(4) Explain the cash balance approach of quantity theory of

money.

4. Write short notes on (any four) : [20]

(1) Leakages of Investment Multiplier

(2) Implications of psychological law of consumption

(3) Circular flow of income in two-sector economy

(4) Principle of acceleration

(5) RBI approach to money supply

(6) LM Curve.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) vkoð;d R;k fBdk.kh lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) mPp ðkDrh iSlk vkf.k iSlk xq.kd ;k ladYiuk Li"V djk-

(2) dsUl ;kapk iSðkkP;k ekx.kh laca/khpk jksdM ilarh n`f"Vdksu Li"V djk-

2- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) lkekftd «s[kkadu Eg.kts dk; \ lkekftd «s[kkadukps ?kVd Li"V djk-

(2) miHkksxkph fujis{k mRiUu ifjdYiuk o thoupÿ ifjdYiuk Li"V djk-

3- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [20]

(1) HkkaMo«kP;k lhekar dk;Z{kersoj ifj.kke dj.kkjs ?kVd dks.krs \

(2) fu/kh izokg «s[kkadu Li"V djk-

(3) vFkZladYih; rqVhpk iSðkkP;k iqjoBÓkojh« ifj.kke Li"V djk-

(4) p«u ifjek.k flºkarkpk jks[k fðkY«d n`f"Vdksu Li"V djk-

4- FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) xqaro.kwd xq.kdkP;k xˇrh

(2) miHkksxk laca/khP;k ekulðkkL=h; fu;ekps vUo;kFkZ

(3) f}{ks=h; vFkZO;oLFksrh« mRiUukpk pÿkdkj izokg

(4) izosxrRo

(5) fj>OgZ c°dspk iSðkkP;k iqjoBÓkpk n`f"Vdksu

(6) ,«-,e- oÿ-
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4704]-302

M.A. (Part II) (Third Semester) EXAMINATION, 2015

ECONOMICS

(EC-302 : Economics of Growth)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) How does capital, labour and technology affect the process

of economic growth ?

(2) Explain the Karl Marx’s theory of development of capitalistic

economy.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain Mrs. Joan Robinson’s Growth Model.

(2) Critically examine the Harrod and Domar model of growth.

3. Answer any two of the following questions in 250 words each : [20]

(1) Explain the characteristics of Growth.

(2) State the capital controversy.
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(3) State Solow’s Model of Economic growth.

(4) Explain the Growth Model of Kaldor.

4. Write short notes in 100 words each (any four) : [20]

(1) Role of Credit and Profit in capitalism

(2) Imperfect Market Paradigm

(3) Meade’s Growth Model

(4) Embodied technical progress

(5) Role of money in economic growth

(6) Endogenous growth.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) izðukP;k mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) vkfFkZd o`ºh izfÿ;sr HkkaMo«] Je vkf.k ra=Kku ;kapk dðkk izdkjs ifj.kke

gksrks*-

(2) HkkaMo«oknh vFkZO;oLFksP;k fodklkpk dk«Z ekDlZ ;kapk flºkar Li"V djk-
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2- [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) felsl tksu jkWcfUlu ;kaps vkfFkZd o`ºh izfreku Li"V djk-

(2) gWjksM&Mksej ;kaP;k vkfFkZd o`ºh izfrekukps VhdkRed ifj{k.k djk-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) o`ºhph oSfðk"VÓs Li"V djk-

(2) HkkaMo« fojks/kkHkkl lkaxk-

(3) lks«ks ;kaps vkfFkZd o`ºh izfreku lkaxk-

(4) dWYMksj ;kaps o`ºh izfreku Li"V djk-

4- [kk«h« Vhik izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(1) ir o uQk ;kaph HkkaMo«ðkkghrh« Hkwfedk

(2) viw.kZ cktkj rRoiz.kk«h

(3) ehM ;kaps o`ºh izfreku

(4) vaxHkwr rka=hd izxrh

(5) vkfFkZd o`ºhrh« iSðkkph Hkwfedk

(6) vartkZr o`ºh-
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Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [4704]-303

M.A. (Part II) (Third Semester) EXAMINATION, 2015

ECONOMICS

EC-303 (A) : Research Methodology

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following in 500 words : [20]

(1) “Research is much concerned with proper fact finding, analysis

and evaluation.” Do you agree with this statement ? Give reasons

in support of your answer.

(2) What do you mean by “Sample Design” ? What points should

be taken into consideration by a researcher in developing a

sample design for his research project ?
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2. Answer any one of the following questions in 500 words : [20]

(1) Examine the merits and limitations of observation method

in collecting data. Illustrate your answer with suitable

examples.

(2) Why is tabulation considered essential in research study ?

Explain the characteristics of a good table.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Distinguish between research methods and research

methodology.

(2) Explain the significance of a research design.

(3) Discuss the steps involved in research report writing.

(4) Distinguish between simple hypothesis and composite

hypothesis.

4. Write short notes in 100 words each (any four) : [20]

(1) Computer as a tool in research

(2) Internet surfing and research

(3) Graphs and Diagrams

(4) Limitations of Secondary Data

(5) Types of Sample

(6) Chi-square test.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1- [kkyhyiSdh izðukaps 500 'kCnkar mŸkj fygk (dks.kR;kgh ,d) % [20]

(1) ^^rF;'kks/ku] fo'ys"k.k vkf.k eqY;kadu ;kpkf'ky la'kks/ku fuxMhr vlrs-**

;k fo/kkuk'kh vki.k lger vkgkr dk; \ rqeP;k mŸkjkP;k leFkZukFkZ dkj.ks

|k-

(2) uequk vkjk[kMk ;kpk rqEgkl dk; vFkZcks/k gksrks \ la'kks/kdkyk R;kP;k

la'kks/ku izdYikP;k uequk vkjk[kMÓkP;k fodklkr dks.kR;k ckch fopkjkr ?ksrY;k

ikghtsr \

2- [kkyhyiSdh izðukaps 500 'kCnkar mŸkj fygk (dks.kR;kgh ,d) % [20]

(1) ekfgrh ladyukP;k fujh{k.k iºrhps xq.k vkf.k e;kZnk ;kaps ifj{k.k djk-

(2) la'kks/ku vH;klkr rkyhdhdj.k dk vko';d ekuys vkgs \ pkaxY;k rkyhdsph

oSf'k"VÓs Li"V djk-

3- [kkyhyiSdh izðukaps izR;sdh 250 'kCnkar mŸkjs fygk (dks.kRksgh nksu) % [20]

(1) la'kks/ku iºrh vkf.k la'kks/ku iºrh 'kkL= ;ke/;s Qjd djk-
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(2) la'kks/ku vkjk[kMÓkph mi;qDrrk Li"V djk-

(3) la'kks/ku vgoky ys[kukr lekfo"V gks.kkÚ;k VII;kaph ppkZ djk-

(4) lk/ks x`fgrd vkf.k la;qDr x`fgrd ;ke/;s Qjd djk-

4- FkksMD;kr fVik fygk izR;sdh 100 'kCnkar (dks.kR;kgh pkj) % [20]

(1) lax.kd la'kks/kukps ,d lk/ku

(2) la'kks/ku vkf.k baVjusV ljQhax (Internet Surfing)

(3) vkys[k vkf.k vkœR;k

(4) nq∏;e rF;kaP;k e;kZnk

(5) ueqU;kps izdkj

(6) dk;&LDosvj pkp.kh (Chi-square test).
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[4704]-303

EC-303 (B) : Econometrics

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.

1. Answer any one of the following questions : [20]

(1) The following table gives the sales and expenses for 10 firms

in lakhs of Rs. :

Sales (X) Expenses (Y)

18 17

19 17

20 18

21 18

22 18

23 19

24 19

25 20

26 21

27 22

(a) Estimate the linear regression of Y on X.

(b) Test the significance of the regression coefficient at 5%

level of significance.

(2) What is multicollinearity ? Discuss sources, consequences and

remedial measures of multicollinearity.
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2. Answer any one of the following questions : [20]

(1) Consider the following model of demand and supply :

      Qd = a1 + b1p + c1y ......... a1, c1 > 0, b1 < 0

   Qs = a2 + b2p + c2z ......... b2 > 0, c2 < 0

  Qd = Qs

where Qd = quantity demanded, Qs = quantity supplied,

p = price, y = disposable income, z = cost of major raw material.

Q and p are endogenous and y and z are exogenous.

(a) Obtain the reduced form of these equations.

(b) Find the final form of these equations.

(c) How does equilibrium quantity change in response to a

change in disposable income ?

(2) What is autocorrelation ? Explain its sources, consequences

and remedial measures in detail.

3. Answer any two of the following questions : [20]

(1) Explain reasons of heteroscedasticity and formal and informal

methods of detecting heteroscedasticity.

(2) State and explain features of Probit model.
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(3) What are dummy variables ? Explain how dummy variable can

be used in piecewise linear regression model.

(4) Explain rank and order conditions of identifiability in simul-

taneous equations model.

4. Answer any four of the following questions : [20]

(1) State the assumptions of the classical linear regression

model.

(2) Explain Vector Autoregression (VAR) as a forecasting

technique.

(3) Explain three stage least squares as a method of estimation

of an over-identified equation.

(4) State different models of time series.

(5) What is an integrated stochastic process ? State its important

properties.

(6) State the distributions of the constants in the classical linear

regression model.



Total No. of Questions—4+4+4+4] [Total No. of Printed Pages—12

Seat

No. [4704]-304

M.A. (Part II) (Third Semester) EXAMINATION, 2015

ECONOMICS

Optional Paper

(EC-304 : Banking and Financial Institutions)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain structure of financial system and discuss its role in

economic development.

(2) Discuss traditional and developmental functions of RBI.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain growth, structure and challenges faced by Commercial

banks in India.

(2) Discuss working and functions of World Bank (IBRD).

P.T.O.
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3. Answer the following questions in 250 words each (any two) : [20]

(1) Discuss problems faced by Co-operative banks in India.

(2) What are the functions of EXIM Bank ?

(3) Discuss types of NBFI.

(4) Explain types of foreign capital.

4. Write short notes on (any four) : [20]

(1) State Bank of India

(2) Banking Sector Reforms in India

(3) Mutual Funds

(4) IMF

(5) Foreign Exchange Market

(6) Small Savings and Provident Fund

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) foŸkh; iºrhph jpuk Li"V d:u R;kph vkfFkZd fodklkrh« Hkwfedk

lkaxk-

(2) fj>oZ c°d vkWQ bafM;kph ijaijkxr o fodklkRed dk;sZ Li"V djk-
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2. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) Hkkjrkrh« O;kikjh c°dkaph o`ºh] jpuk o vkOgkus Li"V djk-

(2) tkxfrd c°ds (IBRD) ph dk;sZ lkaxwu dk;Ziºrhph ppkZ djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) Hkkjrkrh« lgdkjh c°dkaP;k leL;k Li"V djk-

(2) Hkkjrh; vk;kr&fu;kZr c°d (EXIM Bank) ;kph dk;sZ dks.krh vkgsr \

(3) fcxj c°fdax foŸklaLFkkps izdkj Li"V djk-

(4) fonsðkh HkkaMo«kps izdkj lkaxk-

4. FkksMD;kr Vhik f«gk (dks.krsgh pkj) % [20]

(1) LVsV c°d vkWQ bafM;k

(2) Hkkjrkrh« c°fdax {ks= lq/kkj.kk

(3) ijLij lg;ksx fu/kh

(4) vkarjjk"V™h; uk.ksfu/kh

(5) ijdh; fofue; cktkj

(6) vYicpr o Hkfo"; fuokZg fu/kh
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[4704]-304

(EC-305 : Welfare Economics)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following  in 500 words : [20]

(1) What is consumer surplus ? Explain fully Marshallian

measurement of consumer surplus.

(2) State and explain external economies and diseconomies of

production.

2. Answer any one of the following in 500 words : [20]

(1) What is economic welfare ? Explain Kaldor and Hicks’

contributions in Welfare Economics.

(2) What is Pareto Optimality ? Explain briefly the conditions of

Pareto Optimality.

3. Answer any two of the following in 250 words each : [20]

(1) Explain assumption of Uniform Income.

(2) Explain the concept of ‘Value Judgement’.

(3) What are the issues in Income Distribution ?

(4) Explain dynamic welfare analysis.
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4. Write short notes on (any four) : [20]

(1) Welfare maximisation

(2) Private cost and social cost

(3) Community indifference map

(4) Scitovsky’s double criterion

(5) Contract curve

(6) Marginal Cost Pricing

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) miHkksDR;kps larks"kkf/kD; Eg.kts dk; \ miHkksDR;kP;k larks"kkf/kD;kps ekðkZ« ;kaps

eksteki lfoLrj Li"V djk-

(2) mRiknukP;k ckgÓ cprh o vcprh dks.kR;k rs lkaxk o Li"V djk-

2. dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) vkfFkZd dY;k.k Eg.kts dk; \ dWYMksj vkf.k fgDl ;kaps vkfFkZd dY;k.kkrh«

;ksxnku Li"V djk-

(2) iWjsVksph b"Verk Eg.kts dk; \ iWjsVks b"VersP;k vVh FkksMD;kr Li"V

djk-
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3. dks.kR;kgh nksu izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk % [20]

(1) ,dleku mRiUu x`ghr Li"V djk-

(2) ^ewY; vankt* gh ladYiuk Li"V djk-

(3) mRiUu foHkktukrh« leL;k dks.kR;k rs Li"V djk-

(4) xrhðkh« dY;k.kkps foð«s"k.k foðkn djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) dY;k.kkps egŸkehdj.k

(2) [kktxh [kpZ o lkekftd [kpZ

(3) lkekftd lelek/kku oÿ

(4) fLdVksOgLdhpk nqgsjh fud"k

(5) lafonk oÿ

(6) lhekar [kpZ fdaer fuf'prh
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[4704]-304

(EC-306 : Economics of Finance)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Discuss the comparative merits of ‘Internal Rate of Return’

and ‘Net Present Value’ as an evaluation criteria of Financial

Assets.

(2) Explain the general characteristics of securities. Distinguish

between government bond and corporate securities.

2. Answer any one of the following questions in 500 words : [20]

(1) Critically examine the role of SEBI  since 1991.

(2) Explain in detail ‘Capital Assets Pricing Model’.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the role of speculators in Capital Markets.

(2) State the characteristics of forward contracts.

(3) Explain the determinants of demand for securities.

(4) Discuss the need of regulating the supply of securities.
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4. Write short notes on (any four) : [20]

(1) Government as a participant in financial sector

(2) Index-linked bonds

(3) Arbitrage pricing theory

(4) The strong form of efficient market hypothesis

(5) Random returns

(6) Stock Indices

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) foŸkh; ek«eŸksP;k eqY;kadukaps fud"k Eg.kwu ^varxZr ijrkok nj* o ^uDr

orZeku ewY;* ;kaP;k rq«ukRed xq.kkaph ppkZ djk-

(2) izfrHkwrhaph lkekU; oSfðk"VÓs Li"V djk- ljdkjh jks[ks o egkeaMˇ izfrHkwrh

;ke/kh« Qjd Li"V djk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) 1991 iklwu lschP;k Hkqfedsps VhdkRed ewY;ekiu djk-

(2) ^HkkaMo«h ek«eŸkk fdaer izfreku* Li"V djk-
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3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) HkkaMoˇ cktkjkrh« lÍscktkaph Hkwfedk Li"V djk-

(2) ok;ns djkjkph oSfðk"VÓs lkaxk-

(3) izfrHkwrhaph ekx.kh nðkZfo.kkjs ?kVd Li"V djk-

(4) izfrHkwrhpk iqjoBk fu;af=r dj.kkÚ;k xjtsph ppkZ djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) ljdkj ^foŸkh; {ks=krh« ,d lg;ksxh*

(2) funsZðkkad l«Xu jks[ks

(3) vkarji.ku fdaer flºkar

(4) dk;Z{ke cktkj x`ghrdkaps izcˇ izdkj

(5) ;kn`fPNd ijrkok

(6) jks[ks funsZðkkad
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[4704]-304

(EC-307 : Economics of Environment)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) State the concept of Environment. Explain the effects of

environment on human life.

(2) Explain in detail the effects of climatic change on global economy.

2. Answer any one of the following questions in 500 words : [20]

(1) What is economic development ? Explain the trade-off between

economic development and environment.

(2) What is pollution ? Explain the instruments for controlling

water and air pollution.

3. Answer any two of the following questions in 250 words each : [20]

(1) Distinguish between Human Capital and Physical Capital.

(2) Explain different types of environment.

(3) Discuss various types of renewable resources.

(4) Explain the mechanism for environment regulation in India.
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4. Write short notes on (any four) : [20]

(1) Environmental laws

(2) Social forestry

(3) Contingent valuation method

(4) Sustainable development

(5) Noise pollution

(6) Externalities of environment

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) i;kZoj.k Eg.kts dk; \ ekuoh thoukojh« i;kZoj.kkps ifj.kke Li"V

djk-

(2) okrkoj.kkrh« cn«kps tkxfrd vFkZO;oLFksojh« ifj.kke Li"V djk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) vkfFkZd fodkl Eg.kts dk; \ vkfFkZd fodkl o i;kZoj.kkrhy leeqY;u

Li"V djk-

(2) iznw"k.k Eg.kts dk; \ t« iznw"k.k o gok iznw"k.k fu;a=.kkph lk/kus Li"V

djk-
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3. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [20]

(1) ekuoh HkkaMo« o HkkSfrd HkkaMo« ;krh« Qjd Li"V djk-

(2) i;kZoj.kkps fofo/k izdkj Li"V djk-

(3) iqu#Tthou lalk/kukaP;k fofo/k izdkjkaph ppkZ djk-

(4) Hkkjrkrh« i;kZoj.k fu;a=.kkph ;a=.kk Li"V djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) i;kZoj.kh; dk;ns

(2) lkekftd ouhdj.k

(3) vkdfLed eqY;kadu iºrh

(4) ðkkðor fodkl

(5) /ouh iznq"k.k

(6) i;kZoj.kkph ck·rk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4704]-401

M.A. (Part II) (Fourth Semester) EXAMINATION, 2015

ECONOMICS

EC-401 : Macro-economic Analysis—II

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagram wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(i) Explain the Baumol’s approach to Demand for money.

(ii) Explain the Relative Effectiveness of Monetary and Fiscal

Policy.

2. Answer any one of the following questions in 500 words : [20]

(i) Explain the Monetarist approach of inflation.

(ii) Discuss the policies of the control trade cycle.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain features of classical school.
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(ii) Explain the Loanable fund theory of Interest.

(iii) Explain Long-term Phillips curve.

(iv) Explain Keynesian approach to macro-economics.

4. Write short notes in 100 words each (any four) : [20]

(i) Laffer curve

(ii) Hicks theory of trade cycle

(iii) Features of LM curve

(iv) Real Balance Effect

(v) Goodwin’s model of cyclical growth

(vi) Natural rate of employment hypothesis.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk : [20]

(i) ck≈eks«pk iSðkkP;k ekx.khpk n`"Vhdks.k Li"V djk-

(ii) p«ufo"k;d vkf.k jktdks"kh; /kksj.kkph lkis{k ifj.kkedkjdrk Li"V djk-
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2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk : [20]

(i) p«uok<hlaca/khpk eqÊkoknh n`"Vhdksu Li"V djk-

(ii) O;kikj pÿ fu;a=.kkP;k /kksj.kkph ppkZ djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) : [20]

(i) lukru laiznk;kph oSfðk"Vs Li"V djk-

(ii) O;ktkpk dtkZow&fu/kh flºkar Li"V djk-

(iii) fn?kZdk«hu fQ«hIl oÿ Li"V djk-

(iv) dsUlpk lexz«{kh vFkZðkkL=kpk n`"Vhdksu Li"V djk-

4. FkksMD;kr fVik f«gk (dks.krsgh pkj) (izR;sdh 100 ðkCnkar) : [20]

(i) «WQj oÿ

(ii) fgDlpk O;kikj pÿ flºkar

(iii) LM oÿkph oSfðk"Vs

(iv) okLro fðkY«d ifj.kke

(v) xqMfoups pÿh; o`ºh laca/khps izfreku

(vi) csjkstxkjhpk uSlfxZd nj ifjdYiuk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4704]-402

M.A. (Part II) (Fourth Semester) EXAMINATION, 2015

ECONOMICS

EC-402 : Economics of Development

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain the theory of demographic transition.

(2) Explain the static and dynamic gains from international trade.

2. Answer any one of the following questions in 500 words : [20]

(1) Evaluate the theory of Social Dualism.

(2) Explain the role of Fiscal Policy in developing countries.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Comment on Population as a source of development.
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(2) Critically examine the Ranis and Fei model of development.

(3) Explain the importance of infrastructure in economic

development.

(4) Explain the role of foreign direct investment in developing

countries.

4. Write short notes in 100 words each (any four) : [20]

(1) Human Resource development

(2) Unlimited Supply of labour

(3) Trade as an engine of growth

(4) Sources of external borrowing

(5) Globalization and agricultural growth

(6) Foreign aid Vs. Trade.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) : [20]

(1) «ksdla[;k laÿe.k flºkar Li"V djk-

(2) vkarjjk"V™h; O;kikjkps fLFkrhðkh« o xrhðkh« «kHk Li"V djk-
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2. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) : [20]

(1) lkekftd f}n«rkokn flºkarkps ewY;ekiu djk-

(2) fodluðkh« nsðkkrh« jktdks"kh; /kksj.kkph Hkwfedk Li"V djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) : [20]

(1) «ksdla[;k gk vkfFkZd fodklkpk Úksr vkgs ;koj Hkk"; djk-

(2) fodklkP;k jWuhl o Qs izfrekukps VhdkRed ijh{k.k djk-

(3) vkfFkZd fodklkrh« ik;kHkwr {ks=kps egŸo Li"V djk-

(4) fodluðkh« nsðkkrh« fonsðkh izR;{k xqaro.kqdhph Hkwfedk Li"V djk-

4. [kk«h« izðukaoj izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) : [20]

(1) ekuoh lalk/ku fodkl

(2) Jekpk ve;kZfnr iqjoBk

(3) O;kikj&o`ºhps baftu

(4) lkoZtfud dtkZps ckgÓ Úksr

(5) tkxfrdhdj.k vkf.k œ"kh{ks=krh« o`ºh

(6) fonsðkh enr fo#º O;kikj-
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4704]-403

M.A. (Part II) (Fourth Semester) EXAMINATION, 2015

ECONOMICS

EC-403 : International Economics

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) What is the fixed exchange rate ? Discuss the merits and

demerits of fixed exchange rate.

(2) State and explain the comparative cost advantage theory of

International Trade.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain in detail India’s export-import policies since 2000.

(2) Describe the role of Multinational Corporations.
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3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the causes of disequilibrium in the Balance of

Payment.

(2) Explain the factors determining term of Trade.

(3) Examine critically the purchasing power parity theory.

(4) Explain the functions of IMF.

4. Write short notes on (any four) : [20]

(1) Components of Balance of Payment

(2) Effects of tariffs

(3) Non-tariff barriers

(4) Flexible exchange rate

(5) Functions of W.T.O.

(6) Leontief Paradox.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh vkf.k eqÌslwn vlkohr-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

1. [kk«h«iSdh dks.krsgh ,dk izðukps mŸkj 500 ðkCnkar f«gk : [20]

(1) fLFkj fofue; nj Eg.kts dk; \ fLFkj fofue; njkP;k xq.knks"kkaph ppkZ

djk-

(2) vkarjjk"V™h; O;kikjkpk rkS«fud mRiknu O;; flºkar lkaxk o Li"V djk-
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2. [kk«h«iSdh dks.krkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk : [20]

(1) lu 2000 iklqups Hkkjrkps vk;kr&fu;kZr fo"k;d /kksj.k lfoLrj Li"V djk-

(2) cgqjk"V™h; egkeaMˇkph Hkqfedk foðkn djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) : [20]

(1) O;ogkjrks«krh« vlarq«ukph dkj.ks Li"V djk-

(2) O;kikjðkrhZ fu/kkZjhr dj.kkjs ?kVd Li"V djk-

(3) [kjsnhðkDrh lerk flºkarkps fVdkRed ifj{k.k djk-

(4) vkarjjk"V™h; uk.ksfu/khph dk;sZ Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) : [20]

(1) O;ogkjrks«krh« ?kVd

(2) izðkqYdkps ifj.kke

(3) izðkqYdsrj vMFkˇs

(4) cn«rk fofue; nj

(5) vkarjjk"V™h; O;kikj la?kVusph dk;sZ

(6) f«vksUVhQ fojks/kkHkkl-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4704]-404

M.A. (Part II) (Fourth Semester) EXAMINATION, 2015

ECONOMICS

EC-405 : History of Modern Economic Analysis

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(i) Explain fully contribution by Mundell on International

Trade.

(ii) What is the main contribution by Paul Krugman for understanding

the concept of ‘Globalization’ ?

P.T.O.
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2. Answer any one of the following questions in 500 words : [20]

(i) Explain in detail the macro economic theory by Friedman.

(ii) Explain portfolio theory by James Tobin.

3. Answer any two of the following questions in 250 words each : [20]

(i) Explain game theory by Nash.

(ii) Explain revealed preference theory by Samuelson.

(iii) State the contribution by Gunnar Myrdal in Development

Economics.

(iv) Explain classical approach to inflation.

4. Write short notes on (any four) : [20]

(i) Impossibility theorem by Arrow

(ii) Endogenous growth theory

(iii) Welfare Economics by Amartya Sen

(iv) Goodwin’s Model

(v) IS-LM model by Hicks

(vi) Ohlin’s theory of International Trade.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mŸkjs usedh o eqÌslwn vlkohr-

(iii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igk-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(i) vkarjjk"V™h; O;kikj lanHkkZr eqaMs« ;kaps ;ksxnku Li"V djk-

(ii) ^tkxfrdhdj.k* ladYiuk letkowu lkax.;kr ikW« ÿqxeupk dk; lgHkkx

gksrk \

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(i) ›hMeupk lexz«{kh vFkZðkkL= flºkar lfoLrj o.kZu djk-

(ii) tsEl Vkschu ;kapk jks[kklaxzg.k flºkUr Li"V djk-

3. [kk«h«iSdh dks.krsgh nksu izðukaps izR;sdh 250 ðkCnkar mŸkj f«gk % [20]

(i) uWðkpk |wrflºkar Li"V djk-

(ii) lWE;qv«lupk izxV ilarh flºkar Li"V djk-

(iii) fodklkP;k vFkZðkkL=krh« xqUuj fenkZ«ps ;ksxnku lkaxk-

(iv) p«uok<h ckcrpk lukruoknh n`"Vhdksu Li"V djk-
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4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) vWjkspk vðkD;rk flºkar

(ii) vartkZr o`ºh flºkar

(iii) veR;Zlsups dY;k.kdkjh vFkZðkkL=

(iv) xqMfoups izfreku

(v) fgDlps IS-LM izfreku

(vi) vksg«hupk vkarjjk"V™h; O;kikj flºkar-
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